
ME 354 Homework #9 Due: March 13
th

, 2009 before class. 

 

1) Dowling,  Problem 7.39 

 

2) A steel bar AB has a rectangular cross section.  If it is assumed to be pin connected at its 

ends, determine if member AB will buckle if the distributed load w = 2 kN/m.  Let E = 

200 GPa and σ0 = 360 MPa. 

 

 
 

 

 

 

Suggested Problems: 

 

Dowling  7.40  θc = 18.7°  τi = 33.42 MPa 

 7.41  σuc′ = -48.5 MPa σut′ = 10.97 MPa  

 7.47  (a) XCM = 11.2  (b) XCM = 10.48 (c) XCM = 9.59  

 7.48  (a) XCM = 1.9 (no facture) (b) p = 33.4 MPa  

   

What are the critical loads applied to the following structures that cause buckling? 

 

 


